Time & Work
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If 8 men can do a piece of work in 14 days,
then in how much time (in days) will 7 men
do the same piece of work?

7fs 8 qew et 19 1 14 feA § QU Thd €, A 7 7

3Tt R fopae ww (e #) Qi ?
(A) 12 (B) 16
(C) 18 (D) 20

x boys can do a piece of work in 24 days. Then
in how much time (in days) 2x boys will do
half of the work?

x TEF foret o o 24 o7 o L Tehd € | 2x oIS oY

w1l 1 o T (fei ) Qi ?
(A) 6 (B) 8
(C) 10 (D) 12

A certain number of persons can complete a
piece of work in 55 days. If there were 6 per-
sons more, the work could be finished 11 days
earlier. How many persons were there when
the work started?

F Al Teh HM &l 55 Tl § T 4 & |3l 6 =l
3 om W ot 1 11 T ool @ &1 S g, @t SRy
fora =afem &1 2
(A) 17

(C) 30

A group of persons can do a work in 10 days.
If 5 persons remains absent from first day, then
the work is completed in 12 days by remain-
ing persons. Tell how many persons were in
the group initially?

il 1 Tk 49 fe @ @l 10 & § o wehar & 14
374 | ura Ted g fa sTguftea wa € o gu At 3w
o ol 12 e o v e € o e yRe H 70§ e
=i o ?
(A) 20
(C) 45

5.

38 men can complete a work by working 6
Hrs per day in 12 days then calculate in how
many days 51 men can do double of the work
by working 8 hrs per day?

38 STEHT 6 FUe Hfafed 1 Feh foheft ®H 1 12 e |
T HW ¥ | F FIC R 51 oTeHT 8 Hve wfafed wm
T 39 Y A fohaq & 3 |

(A) 56 days/fe

228
(B) 17 days/fe&a

(C) 14 days/f&a
128
(D) 17 days /T

6 persons earn X 8,400 in a week, if they work
8 hours per day then how much amount would
be earned by 9 persons in a week if they do
the work 6 hours per day?

afc 6 =afe 8 we wfafer #= # wfa ==E T 8,400
1St #xd €, it 9 AT 510 6 e wafes e wek ufd
T STftd st S aret Ui eri—

(A) T 9,450

(B) ¥ 1,350

(C) T 9,000

(D) ¥ 7,200

If 12 carpenters working 6 hours a day can
make 460 chairs in 240 days, then find the
number of chairs made by 18 carpenters in
360 days each working 8 hours a day?

=g 12 9158 6 S ufdfe M wk 460 Fdar 240 fei &
T HFA g, A 18 9%, 8 = Hfafed &+ 360 fei
feraeit T s 2

(A) 1320

(B) 1380
(C) 1260
(D) 920
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Mother's Maths \

8.

10.

If x men working x hours per day can do x
units of works in x days, then y men working y

hours per day in y day would be able to do k
units of work. What is the value of k ?
T W § 9 y AT y #0e Ui foF e e y e i H k

T HE H ¢ df k HHAA I B

(CDS 2020(11)
(A) =2y (B) x°y 2
(C) y*x° (D) y’x2

40 persons can do a work in 15 days if they
work 8 hours per day, then in how many days
60 persons can complete the double work if
they work 4 hours per day? If the work done
by 3 persons of first type in 2 hours is same
as the work done by 4 persons of the second

type in 3 hours.
40 37T, 8 = Ufafe s ik Tk FH 15 T J

HoRd € | 99 60 TeH TfafeT 4 =0 i ik U QA
# fore 57 o e ®871 2 9fE Teol TR % 3 STeH 2
U H I &1 B B § TSI g 4 At 3 wwe H
El

(A) 25 days/ f&a
(C) 80 days/ &=

(B) 30 days/ &=
(D) 35 days/ T
If 6 men and 8 women can do a piece of work
in 10 days; and 13 men and 24 women can do
the same work in 4 days, then what is the ra-

tio of daily work done by a man to that of a

woman?

fe 6 TEW 3T 8 AfewTd Th 1 1 10 fed H QU Toha &
31R 13 J&W 37N 24 HiaTd SH w1 H 4 TG H 70w TR
g, @ e o7 o wk 7ey 5R Ry U e 1 kG H
e g T 7T %19 & ST %01 € ? (CDS 2020(1)
A)2:1 B)1:2

(C)4:3 (D)3:4

11.

12.

13.

35 persons are engaged to complete a work in
60 days. After 32 days it is observed that only
(2/5)th part of the work has been done. The
number of persons to be engaged to complete

the remaining work in the said period is

fordt = =1 60 Tl 5 90 &4 & fow 35 =Afwaal
TR S 8 | 32 Tt % a1 et =rew € fo el w1 e
(2/5) 3 9T 1 g0 S A 2 | 39w H SR ety H qu

3 3 o Foer AR ) TR B 2

(SSC CGL Mains 2016)
(A) 20 (B) 35
(C) 30 (D) 25

38 man can complete a work in 12 days work-
ing 6 hour a day. In how many days 57 man
can complete twice the work working 8 hours
a day. If work done by 2 man of first group in
an hour is equal to work done by 3 man of

second group in 1.5 hour?

38 aTeH W & w1 6 He wfafed @l wem 12 faF |
THTH R FRA T | 57 SACH 39 T % A I 8 Hie yfafe
1l ek e fall o T SR T | HF ST Te e I %
2 STEH & 1 ¥ T HE TR THE % 3 STEHI & 1.5 F
1 % S 2

(A) 27 day/fea
(C) 18 day/feH

(B) 28 day/f&H

(D) None of these

2 men can build a wall in 12 & 11 hrs respectively
but if they work together then they use 300 less bricks
per hour & build a wall in 6 hrs. Find the no. of bricks

in the wall.

T ST Teh SO T A 12 9 11 S H o1 Tehd # |
AR 5791 9% T W1 R H €, q 300 T2 W ST B
T & SR AR Y 6 % H A1 20 € | AR oA | e 2
1 HEA 1 Y7
(A) 41526
(C) 25632

(B) 39600
(D) 42600
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14. 25 men can reap a field in 20 days. When

15.

should 15 men leave the work, if the whole

1
field is to be reaped in 375 days after they

leave the work ?

25 SAeHt T @d 1 20 fe7 B g I © | 1 1 o
15 STeHT fora o oi1g ol ©ig < fof 55k a1g 9 STt

e 37% fer i S ?

(A) After 4 days
(C) After 5 days

(B) After 6 days
(D) After 3 days
30 men can complete a job in 40 days. How-
ever, after 24 days some men out of the as-
signed 30 left the job. The remaining people
took another 40 days to complete the job. The

number of men who left the job is.

30 =Af T 1 I 40 TeT o T wLRd €, g 24 T
% o1e 30 =l | o 7w oig foa | 9wt o= gu
QI A e I A % AT 40 o ok faw ) v srea

A ATF! HI AT FNE 2 (CDS 2017 (1)
(A) 24 (B) 18
() 12 (D) 6

16.

17.

Maths « Time & Work
250 persons can complete a work in 20 days
by working 5 hours a day. How many persons
are required to complete the same work in 10

days by working 8 hour per day?
250 STHT TfdfaT 5 =0 S Fleh Tk ohH &1 20 T # qu

TR & | I FF HI A 8 50w ek 10 T &F
e TR T 3 T ST TR Y e e § 2
(A) 316 men/ STEH (B) 320 men/ ScH
(C) 313 men/ STEH! (D) 310 men/ STEH!
4 girls can do a piece of work in 8 days, 3 boys
can do the same piece of work in 2 days and 5

women can do the same piece of work in 4

days. Who is least efficient?

4 wrefnal wig &M 8 el | o Tad! €, 3 Ties sH w
= 2 fel § e Ted € oWR 5 wfeem s+t e i 4 fedi A
T B TR E | HIH HA T RIS ?

(A) Boys / @& (B) Girls / wrefwat

(C) Women / #Afgan (D) Men / &9
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Solutions

1.(B) 8mx14=7xD 6 men and 8 women can do a piece of work
D = 16 days in 10 days
Work done by 6 men and 8 women in one
xx24 2xxD
2.(A) = 1 1
1 - day = —
2 10
1
D = 6 days 6X + 8y = 75 e (1)
3.(B) xx55=(x+6)44 Now, 13 men and 24 women can do the
5x = 4x + 24 = X =24 days same work in 4 days.
4.D) xx10=(x-95)x 12 1
5x = 6x — 30 = x=30 =13x+24y=Z ................ (2)
38mx6x12 51x8xD Multiply equation (1) by 3 and subtract from
5.(B) = (2)
228 _sg- it L1
= D= ——-days 4 10 20
1
6mx8 O9mx6 = X = T
6.(A) = 100
8400 X Put the value of x in (1)
9 x 8400 6 1 1
x= ——=9450 — = — = —
- 100 "%~ 10 7% 25
7B 12x6x240 18x8x360 1
-(B) 460 X =Y= %500
= x=1380 Hence , Ratio of x and y = 2:1.
m,d,h, _ m,d,h, 32x%x 35 (35 + X) 28
8.(D) W, W, 11.(D) 5 = 3
x3 x k = y3 X X 5 5
kzy_3 = 3 x 16 x 35 = (35 + x)28
x* — 3x4x5=35+x
k =yx? = 60 =35 +x
40m; x8 x15 60m, x4D =25
9.(C) ! =2 - %
1 2 3
= 3m, X 2=4m, x 3 12. (A) ATQ, 2M, x 1 = 3M, X 2
= m, = 2m, M 9
40x2x8x15 60x1x4xD = M, ~ 1
= 1 - 2
MenxEff.  Work Time
= D = 80 days 38x9 1 6 x 12
10.(A) Let a man’s one day work = x unit 57x4\ 2 / 8 x x
Woman’s one day work =y unit
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=>2x38x9x6x%x12=57x4x8xx
= x = 27 days

11 A 12
132
12 B 11

13.(B)

132 132
T, 11210

ap) - (11+12) 23
Let they put x bricks with full efficiency
So,
132
23
= 22x = 23x - 6900
= x = 6900 bricks
So, Total bricks in wall = 6 [6900 - 300]
=6 x 6600
= 39,600 bricks

X = 6 [x - 300]

14.(C) Let efficiency of each men = 1
total work = 25 x 1 x 20 = 500
Let after x days 15 men left the work.

So,

75
25x+107 x 1 =500
= 25x + 375 = 500
=>X= 5 = ays

So, After 5 days 15 men left the work.

15. (C) Let number of men who left the job is x
1
Clearly, 1 day's work of 30 men = 20
1 day' k of 1 A _<d
ay's work of 1 :man = = =~
24
= 24 day's work of 30 men = 20
d 40 d k of _ d0xx
an ays, work of x men = = ==
-+ The work is completed in 64 days
24 40x
T+ =1
40 30x40
24 x_ . x_16
T 40 T30 T30 40
=>x=12

Thus, 12 men left the job

16. (C)

17. (B)

Maths ¢ Time & Work

Men Work Time
250 1 5x 20
M 1 8 x 10
250 x 1 x8x10 = Mx1x5x20
= M = 312.5 =~ 313
lgirl's1d k—L_i
girl's ays work = 8x4 30
1 boy's 1d k = L _l
oy's ays wor “3%x2 6
1 1

1 woman's 1 days work = =4 = 0

Clearly, girls are less efficient i.e., they are
taking the most time.
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